# Commentationes Mathematicae Universitatis Carolinas 

Ting Pu Wang<br>Property (G) and (K) of Orlicz spaces

Commentationes Mathematicae Universitatis Carolinae, Vol. 31 (1990), No. 2, 307--313

Persistent URL: http://dml.cz/dmlcz/106860

## Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1990

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# Property (G) and (K) of Orlicz spaces ${ }^{1}$ 

Wang Tingfu

Abstract. For Orlicz spaces, $(\mathrm{K}) \Longleftrightarrow(\mathrm{H})$ and $(\mathrm{G}) \Longleftrightarrow(\mathrm{HR})$ are proved.
Keywords: Orlicz space
Classification: 46B20

In 1958, the property (G) of Banach space $X$ was introduced by Fan and Glicksberg ${ }^{[1]} . X$ is said to have ( G ) if every point on the unit sphere $S(X)$ is denting point of the closed unit ball. Twenty eight years passed, unexpectedly, Lin, Lin and Troyanski ${ }^{[2]}$ discovered that $(G)$ is equivalent to $(K)+(R)$ for any Banach space. $X$ is said to have property ( K ) if the norm topology and the weak topology coincide on $S(X)$. (R) denotes the rotundity. For Orlicz spaces, the criteria of property (H) were obtained ${ }^{[3]},{ }^{[4]} . X$ is said to have (H) if for any sequence on $S(X)$, weak and norm convergence coincide. In this paper, we proved that $(\mathrm{K}) \Longleftrightarrow(\mathrm{H})$ and $(\mathrm{G}) \Longleftrightarrow(\mathrm{HR})$ for either the Orlicz function space $L_{M}[0,1]$ or the sequence space $l_{M}$ endowed with either the Orlicz norm $\|\cdot\|_{M}$ or the Luxemburg norm $\|\cdot\|_{(M)}$.
$M(u), N(v)$ denote a pair of complementary $N$-functions. For a function $x(t)$, its modulo $\rho_{M}(x)=\int_{0}^{1} M(x(t)) d t$ and for a sequence $(x(j))_{1}^{\infty}$, its modulo $\rho_{M}(x)=$ $\sum_{j=1}^{\infty} M(x(j))$. " $M \in \Delta_{2}$ " denotes that $M(u)$ satisfies the $\Delta_{2}$ condition for large (small, in the case of the sequence spaces) $u$, and " $M \in \operatorname{sc}[0, \infty)$ " denotes that $M(u)$ is strictly convex on $[0, \infty)$.

Theorem 1.1. For $\left[l_{M},\|\cdot\|_{(M)}\right],(K) \Longleftrightarrow M \in \Delta_{2}$.
Proof : Necessity. See [3].
Sufficiency. Suppose $x \in S\left(l_{M}\right)$ and $\tau>0$, by $M \in \Delta_{2}$, there exists $\varepsilon>0$ such that

$$
\begin{equation*}
\rho_{M}(x) \leq 2 \varepsilon \Longrightarrow\|x\|_{(M)}<\tau / 2 \tag{1}
\end{equation*}
$$

Again by $M \in \Delta_{2}$, there exists $\delta>0$ such that

$$
\begin{equation*}
\rho_{M}(x) \leq 1 \quad \rho_{M}(x-y)<\delta \Longrightarrow\left|\rho_{M}(x)-\rho_{M}(y)\right|<\varepsilon,[5] \tag{2}
\end{equation*}
$$

Choose $j_{0}$ satisfying $\sum_{j=j_{0}+1}^{\infty} M\left(x_{0}(j)\right)<\varepsilon$. Denote $e_{j}=\left(0 \ldots 0_{1}^{j-\text { th }} 10 \ldots\right)$. Put

$$
A_{\delta}=\left\{x \in S\left(l_{M}\right):\left|\left\langle x-x_{0}, e_{j}\right\rangle\right|=\left|x_{( }(j)-x_{0}(j)\right|<\frac{\delta}{j_{0}}\left(j=1, \ldots, j_{0}\right)\right\} .
$$

For any $x \in A_{\delta}, \sum_{j=1}^{j_{0}} M\left(x(j)-x_{0}(j)\right)<\sum_{j=1}^{j_{0}} M\left(\frac{\delta}{j_{0}}\right)<\sum_{j=1}^{j_{0}} \frac{\delta}{j_{0}}=\delta$. From (2)

$$
\left|\sum_{j=1}^{j_{0}} M(x(j))-\sum_{j=1}^{j_{0}} M\left(x_{0}(j)\right)\right|<\varepsilon .
$$

Thus

$$
\begin{aligned}
\sum_{j=j_{0}+1}^{\infty} M(x(j))=1-\sum_{j=1}^{j_{0}} M(x(j))=\sum_{j=1}^{j_{0}} M\left(x_{0}(j)\right)- & \sum_{j=1}^{j_{0}} M(x(j))+ \\
& +\sum_{j=j_{0}+1}^{\infty} M\left(x_{0}(j)\right)<2 \varepsilon
\end{aligned}
$$

hence

$$
\begin{aligned}
& \rho_{M}\left(\frac{x-x_{0}}{2}\right) \leq \sum_{j=1}^{j_{0}} M\left(\frac{x(j)-x_{0}(j)}{2}\right)+\frac{1}{2}\left(\sum_{j=j_{0}+1}^{\infty} M\left(x_{0}(j)\right)+\right. \\
&\left.+\sum_{j=j_{0}+1}^{\infty} M(x(j))\right)<2 \varepsilon
\end{aligned}
$$

it follows $\left\|x-x_{0}\right\|_{(M)}<\tau$ from (1), i.e. $A_{\delta} \subset B\left(x_{0}, \tau\right)$.
Theorem 1.2. For $\left[l_{M},\|\cdot\|_{M}\right],(K) \Longleftrightarrow M \in \Delta_{2}$.
The proof of this theorem is similar to that of Theorem 1.
Theorem 1.3. For $\left[L_{M}[0,1],\|\cdot\|_{(M)}\right],(K) \Longleftrightarrow M \in \Delta_{2}$ and $M \in \operatorname{sc}[0, \infty)$.
Proof : Necessity. See [4].
Sufficiency. $M \in \Delta_{2}$ and $M \in \operatorname{sc}[0, \infty)$ implies local uniform rotundity of $L_{M}\left[[0,1],\|\cdot\|_{(M)}\right]^{[8]}$. LUR implies (G) ${ }^{[7]}$ and (G) implies (K) ${ }^{[2]}$.
Theorem 1.4. For $L_{M}\left[[0,1],\|\cdot\|_{M}\right],(K) \Longleftrightarrow M \in \Delta_{2}$ and $M \in \operatorname{sc}[0, \infty)$.
Proof: Necessity. See [4].
Sufficiency. $\left\{e_{j}(t)\right\}_{1}^{\infty}$ denotes the system of Harr functions. Without loss of generality, $\|1\|_{N}=1$ and $\left\|e_{j}\right\|_{M}=1(j=1,2 \ldots)$ may be assumed.

Suppose $x_{0} \in S\left(L_{M}\right)$. There exists $\beta>0$ such that the measure of $E=$ $\left\{t:\left|x_{0}(t)\right| \geq \beta\right\}$ is positive. For arbitrary $\tau>0$, there exists $\varepsilon, 0<\varepsilon<\tau$ such that

$$
\begin{equation*}
\rho_{M}(x)<8 \varepsilon \Longrightarrow\|x\|_{M}<\tau \tag{3}
\end{equation*}
$$

Take $y_{0} \in E_{N},\left\|y_{0}\right\|_{(N)}=1$ satisfying

$$
\begin{equation*}
\int_{0}^{1} x_{0}(t) y_{0}(t) d t>1-\varepsilon \tag{4}
\end{equation*}
$$

There exists $\xi, 0<\xi<\frac{\text { mes } E}{2}$ such that

$$
\begin{equation*}
\operatorname{mes} F<3 \xi \Longrightarrow\left\|\chi_{F}\right\|_{N}<\varepsilon, \quad\left\|y_{0} \chi_{F}\right\|_{N}<\varepsilon \text { and }\left\|x_{0} \chi_{F}\right\|_{M}<\varepsilon \tag{5}
\end{equation*}
$$

Let $z_{0}(t)=\operatorname{sign} x_{0}(t) \chi_{E}(t)$, choose $j_{0}$ satisfying

$$
\begin{equation*}
\left\|\sum_{j=j_{0}+1}^{\infty} y_{0}(j) e_{j}\right\|_{N}<\varepsilon, \quad\left\|\sum_{j=j_{0}+1}^{\infty} z_{0}(j) e_{j}\right\|_{N}<\varepsilon \tag{6}
\end{equation*}
$$

For every $x \in L_{M}[0,1]$, there exists $k_{x}>0$ satisfying $\|x\|_{M}=\frac{1}{k_{s}}\left(1+\rho_{M}\left(k_{x} x\right)\right)$. Put

$$
A_{\varepsilon}=\left\{x \in S\left(L_{M}\right):\left|\left\langle x-x_{0}, e_{j}\right\rangle\right|=\left|x(j)-x_{0}(j)\right|<\frac{\varepsilon}{j_{0}},\left(j=1, \ldots, j_{0}\right)\right\}
$$

then

$$
\begin{align*}
& \inf _{x \in A_{\varepsilon}} \operatorname{mes}\left\{t:|x(t)| \geq \frac{\beta}{2}\right\}=d_{\varepsilon}>0,  \tag{7}\\
& \sup _{x \in A_{\varepsilon}} k_{x}=k_{\varepsilon}<\infty  \tag{8}\\
& \exists D_{\varepsilon}>0, \operatorname{mes}\left\{t:\left|k_{x} x(t)\right|>D_{\varepsilon}\right\}<\xi,\left(x \in A_{\varepsilon}\right) \tag{9}
\end{align*}
$$

In fact, if (7) is false, then there exists $x \in A_{\varepsilon}, F=\left\{t:|x(t)| \geq \frac{\beta}{2}\right\}$, mes $F<\xi$. Hence

$$
\int_{E \backslash F}\left(x_{0}(t)-x(t)\right) \operatorname{sign} x_{0}(t) d t \geq \int_{E \backslash F}\left|x_{0}(t)\right| d t-\int_{E \backslash F}|x(t)| d t \geq
$$

$$
\geq \frac{\beta}{2}(\operatorname{mes} E-\xi) \geq \frac{\beta}{4} \operatorname{mes} E .
$$

However, from (5) and (6),

$$
\begin{aligned}
\int_{E \backslash F} & \left(x_{0}(t)-x(t)\right) \operatorname{sign} x_{0}(t) d t \leq\left|\int_{E}\left(x_{0}(t)-x(t)\right) \operatorname{sign} x_{0}(t) d t\right|+ \\
& \left|\int_{F}\left(x_{0}(t)-x(t)\right) \operatorname{sign} x_{0}(t) d t\right| \leq \\
& \leq\left|\int_{0}^{1}\left(x_{0}(t)-x(t)\right) z_{0}(t) d t\right|+\left\|x_{0}-x\right\|_{M}\left\|x_{F}\right\|_{N} \leq \\
& \leq\left|\int_{0}^{1}\left(\sum_{j=1}^{\infty}\left(x_{0}(j)-x(j)\right) e_{j}(t)\right)\left(\sum_{j=1}^{\infty} z_{0}(j) e_{j}(t)\right) d t\right|+2 \varepsilon= \\
& =\left|\int_{0}^{1}\left(\sum_{j=1}^{j_{0}}\left(x_{0}(j)-x(j)\right) e_{j}(t)\right)\left(\sum_{j=1}^{j_{0}} z_{0}(j) e_{j}(t)\right) d t\right|+ \\
& +\left|\int_{0}^{1}\left(\sum_{j=j_{0}+1}^{\infty}\left(x_{0}(j)-x(j)\right) e_{j}(t)\right)\left(\sum_{j=j_{0}+1}^{\infty} z_{0}(j) e_{j}(t)\right) d t\right|+2 \varepsilon \leq \\
& \leq \mid \sum_{j=1}^{j_{0}}\left(x_{0}(j)-x(j)\right) e_{j}\left\|_{M}\right\| z_{0}\left\|_{N}+\right\| x_{0}-x\left\|_{M}\right\| \sum_{j=j_{0}+1}^{\infty} z_{0}(j) e_{j} \|_{N}+2 \varepsilon<5 \varepsilon .
\end{aligned}
$$

This is a contradiction when $\varepsilon$ is small enough. Therefore (7) is true.
For any $x \in A_{\varepsilon}$,

$$
1=\frac{1}{k_{x}}\left(1+\rho_{M}\left(k_{x} x\right)\right) \geq \frac{1}{k_{x}} \int_{\{t:|x(t)| \geq \beta / 2\}} M\left(k_{x} \frac{\beta}{2}\right) d t \geq \frac{1}{k_{x}} M\left(k_{x} \frac{\beta}{2}\right) d_{\varepsilon},
$$

combined with $\lim _{u \rightarrow \infty} \frac{M(u)}{u}=\infty$, it is easy to see that the set $\left\{k_{x}\right\}$ has an upper bound $k_{\varepsilon}$ depending on $d_{\varepsilon}$. i.e. (8) is true.

For any $x \in A_{\varepsilon}$, by (8), $1 \geq \frac{1}{k_{z}}\left\{\begin{array}{l}\left\{t:\left|k_{x} x(t)\right|>D\right\} \\ \end{array}(D) d t \geq \frac{1}{k_{\varepsilon}} M(d) \operatorname{mes}\{t\right.$ : $\left.\left|k_{x} x(t)\right|>D\right\}$. Let $D=M^{-1}\left(\frac{k_{x}}{\xi}\right)$, then $\operatorname{mes}\left\{t:\left|k_{x} x(t)\right| \geq D\right\}<\xi$. i.e. (9) is true.

By the strict convexity of $M(u)$ on $[0, \infty)$, there exists $\delta_{\varepsilon}, 0<\delta_{\varepsilon}<1$, such that $|u|,|v| \leq D_{e},|u-v| \geq \varepsilon, 0<\frac{1}{1+k_{\varepsilon}} \leq \alpha \leq \frac{1}{1+1 / k_{\varepsilon}}<1$ implies

$$
\begin{equation*}
M(\alpha u+(1-\alpha) v) \leq\left(1-\delta_{\varepsilon}\right)(\alpha M(u)+(1-\alpha) M(v)) . \tag{10}
\end{equation*}
$$

Take $\eta$ satisfying

$$
\begin{equation*}
0<\eta<\delta_{\varepsilon} M\left(\frac{\varepsilon}{2}\right) \xi / 3 k_{\varepsilon}^{2} \tag{11}
\end{equation*}
$$

and $j_{0}^{\prime} \geq j_{0}$ satisfying

$$
\begin{equation*}
\left\|\sum_{j=j_{0}^{+}+1}^{\infty} x_{0}(j) e_{j}\right\|_{M}<\eta \tag{12}
\end{equation*}
$$

Put

$$
A_{\eta}=\left\{x \in S\left(L_{M}\right):\left|x(j)-x_{0}(j)\right|<\frac{\eta}{j_{0}^{\prime}}\left(j=1, \ldots, j_{0}^{\prime}\right)\right\}
$$

obviously $A_{\boldsymbol{\eta}} \subset A_{\varepsilon}$. For any $x \in A_{\boldsymbol{\eta}}$, by (12) we have

$$
\begin{align*}
\left\|x+x_{0}\right\|_{M} \geq & \left\|\sum_{j+1}^{j_{0}^{\prime}}\left(x(j)+x_{0}(j)\right) e_{j}\right\|_{M} \geq 2\left\|\sum_{j+1}^{j_{0}^{\prime}} x_{0}(j) e_{j}\right\|_{M}- \\
& -\left\|\sum_{j+1}^{j_{0}^{\prime}}\left(x_{0}(j)-x(j)\right) e_{j}\right\|_{M} \geq 2(1-\eta)-\eta=2-3 \eta . \tag{13}
\end{align*}
$$

Put

$$
G_{x}=\left\{t:\left|k_{x} x(t)\right| \leq D_{e},\left|k_{0} x_{0}(t)\right| \leq D_{\varepsilon},\left|k_{x} x(t)-k_{0} x_{0}(t)\right| \geq \varepsilon\right\}
$$

By (13),

$$
\begin{aligned}
2 & =\|x\|_{M}+\left\|x_{0}\right\|_{M}=\frac{k_{x}+k_{0}}{k_{x} k_{0}}\left(1+\frac{k_{x}}{k_{x}+k_{0}} \rho_{M}\left(k_{0} x_{0}\right)+\frac{k_{0}}{k_{x}+k_{0}} \rho_{M}\left(k_{x} x\right)\right) \geq \\
& \geq \frac{k_{x}+k_{0}}{k_{x} k_{0}}\left(1+\rho_{M}\left(\frac{k_{x} k_{0}}{k_{x}+k_{0}}\left(x_{0}+x\right)\right)\right) \geq\left\|x_{0}+x\right\|_{M} \geq 2-3 \eta
\end{aligned}
$$

Combine with (10) and notice that $k_{x}>1\left(x \in S\left(L_{M}\right)\right)$,
$3 \eta \geq$

$$
\begin{aligned}
& \geq \frac{k_{x}+k_{0}}{k_{x} k_{0}} \int_{0}^{1}\left\{\frac{k_{x}}{k_{x}+k_{0}} M\left(k_{0} x_{0}(t)\right)+\frac{k_{0}}{k_{x}+k_{0}} M\left(k_{x} x(t)\right)-M\left(\frac{k_{x} k_{0}}{k_{x}+k_{0}}\left(x(t)+x_{0}(t)\right)\right)\right\} d t \\
& \geq \frac{k_{x}+k_{0}}{k_{x} k_{0}} \int_{G_{\varepsilon}}\left\{\frac{k_{x}}{k_{x}+k_{0}} M\left(k_{0} x_{0}(t)\right)+\frac{k_{0}}{k_{x}+k_{0}} M\left(k_{x} x(t)\right)-M\left(\frac{k_{x} k_{0}}{k_{x}+k_{0}}\left(x(t)+x_{0}(t)\right)\right)\right\} d t \\
& \geq \frac{k_{x}+k_{0}}{k_{x} k_{0}} \delta_{\varepsilon} \int\left\{\frac{k_{x}}{k_{x}+k_{0}} M\left(k_{0} x_{0}(t)\right)+\frac{k_{0}}{k_{x}+k_{0}} M\left(k_{x} x(t)\right)\right\} d t \\
& \geq \frac{k_{x}+k_{0}}{k_{\varepsilon}^{2}} \delta_{\varepsilon} \frac{1}{k_{x}+k_{0}} M\left(\frac{\varepsilon}{2}\right) \operatorname{mes} G_{x}=\frac{\delta_{\varepsilon}}{k_{e}^{2}} M\left(\frac{\varepsilon}{2}\right) \operatorname{mes} G_{x}
\end{aligned}
$$

Combine with (11), mes $G_{x}<\xi$ is obtained. Put

$$
G_{x}^{\prime}=\left\{t:\left|k_{x} x(t)-k_{0} x_{0}(t)\right| \geq \varepsilon\right\}
$$

It follows from (9) that

$$
\begin{equation*}
\operatorname{mes} G_{x}^{\prime}<3 \xi \tag{14}
\end{equation*}
$$

By (6), it is easy to deduce that $\left|\int_{0}^{1}\left(x_{0}(t)-x(t)\right) y_{0}(t) d t\right|<3 \varepsilon\left(x \in A_{\eta}\right)$, hence from (4), $\int_{0}^{1} x(t) y_{0}(t) d t>1-4 \varepsilon$. Combine with the definition of $G_{x}^{\prime},(14)$ and (5):

$$
\begin{aligned}
1-4 \varepsilon & <\int_{0}^{1} x(t) y_{0}(t) d t \\
& \leq \int_{[0,1] \backslash G_{x}^{\prime}}\left(\frac{k_{0}}{k_{x}} x_{0}(t)-x(t)\right) y_{0}(t) d t\left|+\left|\int_{[0,1] \backslash G_{x}^{\prime}} \frac{k_{0}}{k_{x}} x_{0}(t) y_{0}(t) d t\right|+\right. \\
& \left|\int_{G_{x}^{\prime}} x_{0}(t) y_{0}(t) d t\right| \leq \\
\leq & \left\|\left(\frac{k_{0}}{k_{x}} x_{0}-x\right) \chi_{[0,1] \backslash G_{x}^{\prime}}\right\|_{M}\left\|y_{0}\right\|_{(N)}+\frac{k_{0}}{k_{x}}\left\|x_{0}\right\|_{M}+\|x\|_{M}\left\|y_{0} \chi_{G_{x}^{\prime}}\right\|_{N} \\
& <\frac{k_{0}}{k_{x}}+2 \varepsilon .
\end{aligned}
$$

i.e. $\left(k_{0} / k_{x}\right)-1>-6 \varepsilon$. In addition,

$$
\begin{aligned}
1 & \geq \int_{0}^{1}\left|x(t) y_{0}(t)\right| d t \geq \int_{[0,1] \backslash G_{x}^{\prime}}\left|x(t) y_{0}(t)\right| d t \geq \\
& \geq \int_{[0,1] \backslash G_{x}^{\prime}} \frac{k_{0}}{k_{x}} x_{0}(t) y_{0}(t) d t-\int_{[0,1] \backslash G_{z}^{\prime}}\left|\frac{k_{0}}{k_{x}} x_{0}(t)-x(t)\right|\left|y_{0}(t)\right| d t \\
& \geq \frac{k_{0}}{k_{x}}\left(\int_{0}^{1} x_{0}(t) y_{0}(t) d t-\int_{G_{x}^{\prime}}\left|x_{0}(t) y_{0}(t)\right| d t\right)-\varepsilon \geq \frac{k_{0}}{k_{x}}(1-2 \varepsilon)-\varepsilon .
\end{aligned}
$$

i.e. $\left(k_{0} / k_{x}\right)-1<6 \varepsilon$ if $\varepsilon<1 / 2$. Therefore

$$
\begin{equation*}
\left|\frac{k_{0}}{k_{x}}-1\right|<6 \varepsilon \quad\left(x \in A_{\eta}\right) \tag{15}
\end{equation*}
$$

Thus, for $x \in A_{\eta}$,

$$
\begin{align*}
& \left\|\left(x-x_{0}\right) \chi_{[0,1] \backslash G_{z}^{\prime}}\right\|_{M} \leq \frac{1}{k_{x}}\left\|\left(k_{x} x-k_{0} x_{0}\right) \chi_{[0,1] \backslash G_{x}^{\prime}}\right\|_{M}+\left|\frac{k_{0}}{k_{x}}-1\right|\left\|x_{0} \chi_{[0,1] \backslash G_{x}^{\prime}}\right\|_{M} \\
& <\varepsilon+6 \varepsilon=7 \varepsilon \tag{16}
\end{align*}
$$

Combine with (5), $\left\|x \chi_{[0,1] \backslash G_{x}^{\prime}}\right\|_{M} \geq\left\|x_{0}\right\|_{M}-\left\|x_{0} \chi_{G_{z}^{\prime}}\right\|_{M}>1-\varepsilon$, hence $\left\|x \chi_{[0,1] \backslash G_{x}^{\prime}}\right\|_{M}>1-8 \varepsilon$.

Because of

$$
\begin{aligned}
1 & =\|x\|_{M}=\frac{1}{k_{x}}\left(1+\int_{[0,1] \backslash G_{x}^{\prime}} M\left(k_{x} x(t)\right) d t+\int_{G_{x}^{\prime}} M\left(k_{x} x(t)\right) d t\right) \\
& \geq\left\|x \chi_{[0,1] \backslash G_{x}^{\prime}}\right\|_{M}+\int_{G_{x}^{\prime}} M(x(t)) d t>1-8 \varepsilon+\rho_{M}\left(x \chi_{G_{x}^{\prime}}\right),
\end{aligned}
$$

$\rho_{M}\left(x \chi_{G_{x}^{\prime}}\right)<8 \varepsilon$. It follows from (3), $\left\|x \chi_{G_{z}^{\prime}}\right\|<\tau$. Thus by (16)

$$
\begin{aligned}
\left\|x-x_{0}\right\|_{M} & \leq\left\|\left(x-x_{0}\right) \chi_{[0,1] \backslash G_{x}^{\prime}}\right\|_{M}+\left\|x_{0} \chi_{G_{x}^{\prime}}\right\|_{M}+\left\|x \chi_{G_{x}^{\prime}}\right\|_{M} \\
& \leq 7 \varepsilon+\varepsilon+\tau<9 \tau .
\end{aligned}
$$

This means $A_{\eta} \subset B\left(x_{0}, 9 \tau\right)$.
It is easy to deduce from the theorem in [2]
Theorem 2. For $\left[L_{M}[0,1],\|\cdot\|_{M}\right], \quad\left[L_{M}[0,1],\|\cdot\|_{(M)}\right], \quad\left[l_{M}[0,1],\|\cdot\|_{M}\right]$ or $\left[l_{M}[0,1],\|\cdot\|_{(M)}\right]$

$$
(G) \Longleftrightarrow(H)+(R) .
$$

The author expresses his gratitute to Prof. Shi Zhongrui for his discussions.

## References

[1] Ky Fan, Glicksberg I., Some geometric properties of the spheres in a normed linear space, Duke Math. J. 25 (1958), 553-568.
[2] Bor-Luh Lin, Pei-Kee Lin, S. L. Troyanski, Some geometric and topological properties of the unit spheres in a Banach space, Math. Ann. 274 (1986), 613-616.
[3] Wu Congxin, Chen Shutao, Wang Yuwen, Property H of Orlicz Sequence spaces, J. Harbin Tech. Univ., supplementary issue (1985), 6-10.
[4] Chen Shutao, Wang Yuwen, Property H of Orlicz spaces, Chinese Math. Ann., 8 A 1 (1987), 61-67.
[5] Kamińska A., The criteria for LUR of Orlicz spaces, Studia Math. 79 (1984), 201-215.
[6] Kamińska A., On UR of Orlicz spaces, Indag. Math. 85 (1982), 27-36.
[7] Troyanski S., On a property of the norm which is close to LUR, Math. Ann. 271 (1985), 305-314.

## Harbin University of Science and Technology, Harbin, Heilongjiang, China

